
Brafab

4mm

PZ2

1 2

3 4 5
x1 x1

x2 x1

x1

6
x1

Assembly instruction

 GNARP Children Relax - Art nr 9305

1 60min

80

A 4x60 x4
B M6x55 x4
C M6 x6
D M6x45 x2
E 4x50 x8

 1 / 4



4

3

PZ2

5

3

A
A

E

 
4m

m
 

 50mm 

2

C

6

1

2

C
C

C
C

A 4x60 x4

C M06 x6

 2 / 4



3

4

B

B

D

4mm

4mmB M6x55 x4

D M6x45 x2

 3 / 4



15

PZ2

E

E

E

E

PZ2

E 4x50 x6

E 4x50 x2

 4 / 4


	Sheet1
	Drawing View7
	Drawing View12
	Drawing View14
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View28
	Detail View C (2 : 5)
	Drawing View33
	Drawing View36
	Drawing View95
	Drawing View97
	Drawing View147
	Drawing View148
	Drawing View149
	Drawing View150
	Detail View Z (1 : 0.8)
	Drawing View153
	Drawing View156

	Sheet2
	Drawing View43
	Drawing View44
	Detail View D (1 : 2.5)
	Drawing View48
	Detail View C (2 : 5)
	Drawing View56
	Drawing View57
	Drawing View58
	Detail View E (1 : 5)
	Drawing View62
	Drawing View63
	Drawing View64
	Detail View F (2 : 7)
	Drawing View66
	Detail View G (2 : 7)
	Drawing View161

	Sheet5
	Drawing View124
	Detail View T (1 : 3)
	Drawing View130
	Drawing View131
	Drawing View132
	Detail View U (2 : 5)
	Drawing View157
	Detail View Z (1 : 0.7)
	Drawing View159
	Detail View Z (1 : 0.8)
	Drawing View162
	Drawing View163

	Sheet6
	Drawing View136
	Detail View W (1 : 2.5)
	Detail View X (1 : 2.2)
	Drawing View139
	Detail View C (2 : 5)
	Drawing View141
	Drawing View142
	Detail View Y (1 : 1.5)
	Drawing View144
	Detail View C (2 : 5)
	Drawing View146
	Drawing View164
	Drawing View165


